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Note : This paper is of eighty (80) marks containing three
(03) sections A, B and C. Learners are required to
attempt the questions contained in these sections
according to the detailed instructions given therein.
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Section-A / Gvs—h

(Long Answer Type Questions) / (€T SR 7%)

Note : Section ‘A’ contains four (04) long answer type
questions of nineteen (19) marks each. Learners are
required to answer two (02) questions only.
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1. State the different objectives of a firm and explain the

sales maximisation model of Baumol.
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2. Define demand and distinguish it from wants. What are
its determinants ?
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3. Identify and explain the technical limit of production
and discuss its causes.
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4. What do you mean by price discrimination ? Explain
the conditions under which price discrimination is
possible and profitable. Explain with the help of
suitable diagrams.
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(Short Answer Type Questions) / (75 ITRIT U%)

Note : Section ‘B’ contains eight (08) short answer type
questions of eight (08) marks each. Learners are
required to answer four (04) questions only.
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Scope of Managerial Economics
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Equi-marginal principle
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Income elasticity of demand

HAT BT 3T A

Explicit and Implicit costs
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Product differentiation

Iare fafdefiavor

Accounting profit and Economic profit
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Break-even point
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8. Distinguish between Keynes’ general theory of
employment, interest and money and classical theory
of employment, interest and money.
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Section-C / YUs—TT

(Objective Type Questions) / (@S J)

Note : Section ‘C’ contains ten (10) objective type
questions of one (01) mark each. All the questions
of this section are compulsory.
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Choose the correct alternative.
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1. National Income is less than Net National Product
(NNP) by the amount of :
(@) Transfer payment
(b) Capital Consumption Allowance
(c) Indirect business taxes
(d) Personal taxes
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2. In the typical demand schedule, quantity demanded :
(a) varies directly with price
(b) varies indirectly with price
(c) varies inversely with price
(d) is independent of price
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3. Marginal Cost (MC) curve cuts the Average Cost (AC)
curve :
(@) Atthe left of its lowest point
(b) Atits lowest point
(c) Atthe right of its lowest point
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4. Variable cost per unit :

(a) varies when output varies

A29)P. T. O.



[6] S-629

(b) remains constant

(c) decreases when output increases

(d) decrease when output decreases
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A firm’s ‘shutdown’ point is reached when :
(@) Average revenue fails to cover average total cost

(b) Average revenue fails to cover average variable
cost

(c) Average revenue fails to cover average fixed cost

(d) Average revenue fails to cover marginal cost
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Any straight line which cuts the supply curve at
X-axis, reflects :
(@ An elasticity greater than one
(b) Unitary elasticity of supply
(c) An elasticity less than one
(d) Zero elasticity of supply
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The law of diminishing returns depends on the
assumption that :

(@) Land is the factor kept constant

(b) The state of technical knowledge is unchanged

(c) Total output is constant

(d) Average output declines faster than marginal
output
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Selling cost is necessary under :
(@ Pure monopoly

(b) Perfect competition

(c) Monopolistic competition
(d) None of these
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The kinked demand curve emerges because of the

assumption that :

(@) when one seller increases or decreases his price,
others follow

(b) when one seller increases his price, others
decrease their prices

(c) when one seller decreases his price, others
decrease their prices

(d) others follow when one seller decreases his
prices, but don’t follow when he increases his
price
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10. Which of the following does not represent surplus, but
enters into costs :

(1) Prospective profit
(2) Realized profit
(3) Net profit

(4) Gross profit
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